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WARM UP 21

Two friends shared the cost of a
carry-out meal. The total cost was

$32.60. How much was each share?

Name:

How can you use division to

OO\ ~ find 2 of $32.60?
~

1. Complete this sentence.

[ % of $32.60 isthe sameas $32.60 +

2. a. Suppose four friends shared the cost of the meal.
Complete this sentence to show your thinking.

[ % of $32.60 is the same as $32.60 + =

How did you figure out $32.60 =+ 4?

b. Complete this sentence to show your thinking.

3. Use the same strategy to figure out these in your head.
a.

N

QO]
=

$32.60 + 4 is the same as

% of $18.70 =

b.

% of $20.48 =

Use Division

© ORIGO Publications Permission is given to instructors to reproduce this page for classroom use.



© ORIGO Publications Permission is given to instructors to reproduce this page for classroom use.

Name: WORK OUT 21

1. a. Look at this number sentence. .
Write how you would calculate - 0f $36.80
the answer in your head.

b. Write two other number sentences with dollars and cents that you
could solve the same way.

1
2

of

of

1
4

2. Use division to calculate each of these. Write the missing numbers.

" 1 of $26.42 i} 1 0f$16.32
$26.42+ = $16.32+ =
(o d.
% of $24.88 —-of $32.26
$24.88+ = $32.26+ =

3. Calculate the answers.

$24.84 | $32.40 | $48.68 | $28.12 | $36.24

Be
o
*

Use Division 3
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